
  

 

 

B.Com. DEGREE EXAMINATION —  

JUNE, 2010. 

(AY 2003 – 04 and CY 2004 batches only) 

Third Year 

Commerce 

COST ACCOUNTING 

Time : 3 hours Maximum marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. What is cost accounting? What are its objectives? 

 AhUP Âø» PnUQ¯À GßÓõÀ GßÚ? Auß 

÷|õUP[PÒ ¯õøÁ? 

2. What is ABC analysis? What are its advantages? 

 ABC £S¨£õ´Ä GßÓõÀ GßÚ? Auß |ßø©PÒ 

¯õøÁ? 
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3. Define ‘Idle Time’. Explain the causes for ‘Idle 

Time’. 

 £o°À»õ ÷|µ® Áøµ¯Ö. £o°À»õ ÷|µzvØUPõÚ 
Põµn[PøÍ ÂÍUSP. 

4. Find out the Economic Order Quantity (EOQ) 

from the following particulars : 

 Annual usage : 6000 units 

 Cost of material per unit : Rs. 20 

 Cost of placing and receiving one order : Rs. 60. 

Annual carrying cost of one unit : 10% of 

Inventory value. 

 RÌUPõq® ÂÁµ[PÎ¼¸¢x ]UPÚ öPõÒ•uÀ 
Bøn AÍøÁ (EOQ) Psk¤iUP : 

 Bsk ~PºÄ : 6000 A»SPÒ 

 ‰»¨ö£õ¸Ò J¸ A»Qß AhUPÂø» : ¹. 20. 

 J¸ öPõÒ•uÀ Bøn°hÀ ©ØÖ® ö£Öu¾UPõÚ 
AhUPÂø»;  ¹. 60 J¸ A»Qß Bsk £µõ©›¨¦a 
ö\»Ä ; \µUQ¸¨¦ ©v¨¤À 10%. 

5. The Fixed expenses of an industrial concern 

amounts to Rs. 1,80,000. It’s variable cost per unit 

is Rs. 29 and selling price is Rs. 44 per unit. 

Calculate the break even point. 

 J¸ Bø»°ß {ø»a ö\»ÄPÒ ¹. 1,80,000. Auß 
©õÖ£k® ö\»ÄPÒ A»S JßÖUS ¹. 29 ©ØÖ® 
ÂØ£øÚ Âø» A»S JßÖUS ¹. 44. C»õ£ |mh 
©ØÓ Âø»¨¦ÒÎø¯ PnUQkP. 
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PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Discuss the advantages and limitations of cost 

accounting. 

 AhUP Âø» PnUQ¯¼ß |ßø©PÒ ©ØÖ® 
SøÓ£õkPøÍ ÂÁõvUP. 

7. Explain the different methods of classifying 

overheads. 

 ÷©Øö\»ÄPøÍ ÁøP¨£kzx® •øÓPøÍ ÂÍUSP. 

8. From the particulars given below write up the 

stores ledger card : 

2009  

Jan 1. Opening stock 1000 units at Rs. 26 each 

5. Purchased 500 units at Rs. 24.50 each 

7. Issued 750 units 

10. Purchased 1500 units at Rs. 24 each 

12. Issued 1100 units 

15. Purchased 1000 units at Rs. 25 each 

17. Issued 500 units 

18. Issued 300 units 

25. Purchased 1500 units at Rs. 26 each 

29. Issued 1500 units. 

 Prepare a stores Ledger Account under ‘‘FIFO’’ 

method. 
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 RÌUPõq® ÂÁµ[PÎ¼¸¢x £shP ÷£÷µmk 
Amøhø¯ u¯õ›UP. 

2009  

áÚÁ› 1. öuõhUP \µUQ¸¨¦ 1000 A»SPÒ JßÖ ¹. 26 

5. öPõÒ•uÀ 500 A»SPÒ JßÖ ¹. 24.50 

7. AÎ¨¦ 750 A»SPÒ 

10. öPõÒ•uÀ 1500 A»SPÒ JßÖ ¹. 24 

12. AÎ¨¦ 1,100 A»SPÒ 

15. öPõÒ•uÀ 1,000 A»SPÒ JßÖ ¹. 25 

17. AÎ¨¦ 500 A»SPÒ 

18. AÎ¨¦ 300 A»SPÒ 

25. öPõÒ•uÀ 1,500 A»SPÒ JßÖ ¹. 26 

29. AÎ¨¦ 1,500 A»SPÒ 

 \µUQ¸¨¦ ÷£÷µmk PnUøP ‘‘•u¼À ö£ØÓøu 
•u¼À ö\¾zv¯x’’ •øÓ°À u¯õº ö\´. 

9. From the following particulars ascertain the 

amount of profit shown in profit and loss account 

by preparing necessary reconciliation statement of 

account : 

  Rs. 

(a) Profit shown as per cost accounts 1,40,000 

(b) Depreciation shown excess in cost books 2,000 

(c) Interest on investment received 1,000 

(d) Provision made for Income tax 40,000 

(e) Income received for share transfer 150 

(f) Factory overhead under recovered in cost books 3,000 

(g) Office expenses under recorded in financial books 1,000 
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 RÌUPõq® ÂÁµ[PÎ¼¸¢x uS¢u \›UPmk® 

PnUøP u¯õ›zx C»õ£ |mh PnUS Põmk® 

C»õ£zøu PnUQkP : 

  ¹. 

(A) AhUP Âø» HkPÎÀ Põmh¨£mkÒÍ C»õ£® 1,40,000 

(B) AhUP Âø» HkPÎÀ AvP¨£i¯õÚ ÷u´©õÚ® 2,000 

(C) •u½kPÎ¼¸¢x ö£ØÓ Ámi 1,000 

(D) Á¸©õÚÁ› «uõÚ JxURk 40,000 

(E) £[S ©õØÓÀ ‰»® ö£ØÓ Á¸Áõ´ 150 

(F) AhUP Âø» HkPÎÀ SøÓzx ö£Ó¨£mh Bø» 

÷©Øö\»ÄPÒ 

3,000 

(G) {vPnUQ¯À HkPÎÀ SøÓzx ö£Ó¨£mh A¾Á»P 

÷©Øö\»ÄPÒ 

1,000 

10. From the following data calculate the earnings of 

3 workers A, B and C under Merrick’s multiple 

piece rate system : 

 Standard production per day : 150 units 

 Normal price rate : Re. 0.50 per unit 

 Production of workers on a particular day : 

 A – 120 units 

 B – 140 units 

 C – 160 units.  
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 RÌUPõq® ÂÁµ[PÎ¼¸¢x ö©º›UQß ©õÖ£k® 
A»S ÂQu® •øÓ¨£i ; A, B, C BQ¯ ‰ßÖ 
£o¯õÍºPÎß Fv¯zøu PnUQkP : 

 |õÒ JßÔß uµ {ºn¯ EØ£zv –  150 A»SPÒ 

 \õuõµn A»S JßÔß ÂQu® –  ¹. 0.50 A»S   
      JßÖUS 

 SÔ¨¤mh |õÒ JßÔß £o¯õÍºPÎß EØ£zv 
AÍÄ : 

 A – 120 A»SPÒ 

 B – 140 A»SPÒ 

 C – 160 A»SPÒ.  

11. A product passes through three process X, Y and Z 

to its completion. During September 2008, 5000 

units of finished product were produced and the 

following expenses were incurred : 

 Process X Process Y Process Z 

 Rs. Rs. Rs. 

Materials 5,000 10,000 5,000 

Direct wages 25,000 20,000 15,000 

Direct expenses 2,500 3,000 5,000 

 Indirect expenses amounted to Rs. 30,000 which 

are to be apportioned to the process on the basis of 

direct wages. Raw materials worth Rs. 30,000 

were issued to process X. Ignore the question of 

process stocks and prepare the process accounts, 

showing cost per unit in each process. 
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 J¸ ö£õ¸Ò X, Y ©ØÖ® Z BQ¯ ‰ßÖ EØ£zv £i 
{ø»PøÍ Ph¢x •Êø© AøhQÓx. ö\¨h®£º, 
2008À 5000 A»SPÒ •Êø© Aøh¢u ö£õ¸ÒPÒ 
EØ£zv ö\´¯¨£mhx ÷©¾® RÌUPõq® ö\»ÄPÒ 
ö\´¯¨£mhx. 

 £i X £i Y £i Z 

 ¹. ¹. ¹. 

‰»¨ö£õ¸Ò 5,000 10,000 5,000 

÷|µiU T¼ 25,000 20,000 15,000 

÷|µia ö\»ÄPÒ 2,500 3,000 5,000 

 ©øÓ•Pa ö\»ÄPÍõÚ ¹. 30,000–I EØ£zv £i 
{ø»PÐUS ÷|µi T¼ ÂQuzvÀ 
£Qº¢uÎUP¨£mhx. EØ£zv £i {ø» X–À  
¹. 30,000 ©v¨¦ÒÍ ‰»¨ö£õ¸Ò Ch¨£mhx. 
EØ£zv £i{ø»PÎß C¸¨ø£ ¦ÓUPozx EØ£zv 
£i {ø» PnUøP²®, JÆöÁõ¸ £i°¾® A»S 
JßÔß AhUPÂø»ø¯²® PnUQkP. 

12. The sales turnover and profit during two years 

were as follows : 

Year Sales Profit 

 Rs. Rs. 

2007 1,40,000 15,000 

2008 1,60,000 20,000 

 Calculate : 

 (a) P/V Ratio 
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 (b) Break – even point 

 (c) Sales required earn a profit of Rs. 40,000 

 (d) Fixed expenses and 

 (e) Profit when sales are Rs. 1,20,000. 

 Cµsk BskPÎß ÂØ£øÚ ©ØÖ® C»õ£® 
ÂÁµ[PÒ ¤ßÁ¸ÁÚ : 

Bsk ÂØ£øÚ C»õ£® 

 ¹. ¹. 

2007 1,40,000 15,000 

2008 1,60,000 20,000 

 PnUQkP : 

 (A) £[PÎ¨¦ ÂQu® 

 (B) C»õ£ |mh ©ØÓ ¦ÒÎ 

 (C) C»õ£® ¹. 40,000 Dmh ÂØ£øÚ°ß AÍÄ 

 (D) {ø»a ö\»ÄPÒ 

 (E) ¹. 1,20,000 ÂØ£øÚ°ß C»õ£®. 

—————— 


